a(0 @) (raqd)

107 Y=:

1072

1.2

Ratio
N

0.8
0.6

|
(o0 A A LA

-1 0 1 2 3
TP n (PCA to beamline)

a(d cot(d))

ogl

W[TTTT T

0 1 2 3
TP n (PCA to beamline)

—=— DQM_V0001_R000000001__Global_mKFITOLD__RECO
—— DQM_V0001_R000000001__Global__mkFit100__RECO
—— DQM_V0001_R000000001__Global__mkFit100tobtec_ RECO

SICEWATL

107}

1072
1.2

Ratio
N

0.8
0.6

4
o -4 -
PR 1 Y P 1 O PO | PRI | PP ' ' P Y
B
4
+ #1414 4 4

|
W[

=

-1 0 1 2 3
TP n (PCA to beamline)

o p/p.)

L J o
| Sl ] A

D 1
-2 -1 0 1 2 3
TP n (PCA to beamline)

QO[T T
ey

z

oo a,) (cm)

Ratio

1

1072

1.2

iy

0.g!

W

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


